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AN dot=E
Hu: 5EMO PR MEtAT SEWM
tel: 428 SSAMS (4T MASEIH ) (AT AISEES) (&)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
SN0 & d&XAS 3,000,000 *14] 3,000
206 M= Hl 20,000 20,000 0
01 MHZ 8l 20,000 20,000 0
Oa=& HI&X 2 20,000,000& =14 20,000
207 & O | 20,000 0 20,000
01 2284 20,000 0 20,000
OM+E TAEI U HEQ3 A28
20,000,000& =14 20,000
401 AIEHIZ 28I 1,557,110 1,159,090 398,020
01 A& Hl 1,550,000 1,150,000 400,000
ON4Z TE=27 L ALS RN 22
900,000,000& » 14 900,000
O=22 WHIA 450,000,000 » 14 450,000
OL=HEI & 258 A
200,000,000 » 14 200,000
03 A& S THHI 7,110 9,090 A 1,980
O+ Ie=3 Y A28 |X22
900,000,000& *0.63%* 1 5,670
O=HEI & 258 A
200,000,000& *0.72%* 14 1,440
= getae] 989,460 1,583,740 A 594,280
101 @124 dl 6,000 4,000 2,000
04 DI Z2XREES 6,000 4,000 2,000
O=EAN4 H=E=ZY 22 6,000,000 14 6,000
201 et 648,460 706,740 A 58,280
01 At 22l 25,500 21,100 4,400
OF=ZT MNRA 29 5,000,000 *2H 2~ 10,000
Oogay a3z ¢ 500,000 *2H 2~ 1,000
OB4+T HY2LX HNois
250,000& 11 23] 5,500
OF=Z YRFA Sl 9,000,000& x1H 9,000
02 =24l 622,960 685,640 A 62,680
OXIIRS 450,000,000 » 14 450,000
O (MM S) NS +42
4,960,000& » 14 4,960
OXsx RFU & =X
3,000,000& »2CH 1A 6,000
ORgH dud 29 10,000, 000& 23] 20,000
O+EHEI BEAM 442
10,000, 000& =14 10,000
O&EIl & AAIE |22 89
14,000, 000& =14 14,000
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SN ASRED
M SEH0 HZZ Aot =EIMA
S 22 BIMY(HLTALSHIN)(HLTMASHEN) CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OZ+% & had 20J0ALS 89
23,000,000& » 14 23,000
O NEF+=XHelAld FX2e 849
15,000, 000& =1 15,000
O=ZA=I sX&cl 89 16,000,000 14 16,000
O+SA& FIIHHHY 8
23,000,000 14 23,000
Oll== & HIIZ AKX 4
25,000,000 » 14 25,000
O ststhE &4 16,000,000 «1& 16,000
202 O4dl 5,000 5,000 0
01 = LH 4 Hi 5,000 5,000 0
OM48 +HAAN L HY2Y 2922
5,000,000& » 14 5,000
206 M= Hl 30,000 22,000 8,000
01 =8l 30,000 22,000 8,000
OBIATTH(EZ, UXSHH 228 S)
30,000,000& x14 30,000
401 AIEHI L 201 300,000 800,000 A500,000
01 A& Hl 300,000 800,000 500,000
OYaFLT 2ay Rl Ha
200,000,000& » 14 200,000
OZd&E=T =4H A2l HA
100,000, 000& =1 100,000
=% =g 258,320 1,365,220 A 1,106,900
201 Let24d] 158,520 168,320 A9,800
01 At 22l 88,520 86,320 2,200
O2J =ZAA 3,500,000& *43| 14,000
OZAE=E ==HHA 550,000& *43] 2,200
Og2t =ZAA 1,200,000& 82| 9,600
O=F2t =ZAA 40,0003 403 x2J4 2 3,200
O&=(JIE) ==2AAM 40,0003 523 x2J4 2 4,160
Odta = == Z A 60,000 523 x2J4 & 6,240
OIS =ZAAM
60,000 «23| * 1204 2«64 & 8,640
OeF =+ =ZHA 9,000,000& x1& 9,000
OEJL0IME ==ZZA
4,000, 000& »23] *2J4 2 16,000
OJIEH(tM &I/ &) =ZEHA
10,000, 000& =1 10,000
O=x=23&ZE10MN B1A 4,500,000& =13 4,500
O+E2WIIAAAE BH2Y
70,0003 +7H %23 980
02 =224l 70,000 82,000 A 12,000
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2N
X ZH -
L= B

el

AT A E D
SEXQ 2R HEHET +E
o2 BIMY(YLE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZF=% &34 5,000,000 *33] *20H A 30,000
Oti=Xl &2 20,000,000& x23l 40,000
206 M= Hl 99,800 135,900 36,100
01 =8l 99,800 135,900 A 36,100
Os&H 300,000& *70& 21,000
OAL=H 520,000& x90&= 46,800
OAFT & Al 10,000, 000& » 1 10,000
OFEHZI L +HAM 223
20,000,000 » 14 20,000
OetdEsH 2,000,000& x14 2,000
T A2 21 35,500 69,913 A 34,413
201 et 35,500 37,736 A 2,236
01 At 22l 20,000 20,000 0
ONXNAN &8 EH ¥ ¢33 #¢
2,000,000 »14 2,000
OLDXMN &3 ZEHd |X2cl 5000003 *42] 2,000
OM=ETAEZ XSOIH =22
7,000,000 »14 7,000
Oa=E 3 22 MZEH 3,000,000 x 14 3,000
OM4+ER32 228 28 ¢
3,000,000 » 14 3,000
OB XY= U Hst Y
250,000 x6H 23| 3,000
02 2324l 15,500 17,736 A2,236
Odx=ER=s Hdits Z28 |FAES
12,000, 000& =1 12,000
OM45Q3 SBINE LT 7
3,500,000& 3,500
Sstg 22| 830,000 830,000 0
201 LB-2d| 800,000 800,000 0
02 23224l 800,000 800,000 0
OL= dA=U=2 800,000,000& 14 800,000
308 XXIEHH SOl A 30,000 30,000 0
07 X HH2LESE S 30,000 30,000 0
O=3tg &2 RE3 30,000,000 » 14 30,000
oG Yitate] 241,000 297,490 A 56,490
101 14 dl 12,000 8,000 4,000
04 JIZHHZ2Z2XNHESE S 12,000 8,000 4,000
O=EAE M= A2 4,000,000 33 14 12,000
201 LBH2I | 224,000 274,490 A 50,490
01 At 22l 8,000 8,000 0
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SN MBS AT
M S8 222 ot =EMHA
tel: 428 SSAMS (4T MASEIH ) (AT AISEES) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OZFH, ZeHd sX2el 3,000
OEE= M 5,000
02 =224l 216,000 266,490 A50,490
Od&st+=S 83l 2,000
ONsi RFUH 4,000,000& «3CH*1& 12,000
OXES X KX 2,000,000 «3CH 14 6,000
Oaz=EAE BetidR=s 30,000
Oax=EANEE HIIRS 100,000
Odx=EANEE SUR=S 60,000
Ogletz A== 500,000& 1204 2 6,000
405 TtobH S| 5,000 15,000 A 10,000
01 et EZFH S 5,000 15,000 A 10,000
Oa==& KA2el 235 7*¢ 5,000,000 14 5,000
SHEMEESNL (22X ) (HEAY) 1,700,000 1,500,000 200,000
< 1,500,000
= 200,000
401 Al HIZ 201 8I 1,700,000 1,500,000 200,000
< 1,500,000
i 200,000
01 A& HI 1,696,000 1,494,600 201,400
O+ sHELEEFIHL 1,696,000
= 1,500,000
= 196,000
03 Al 2 THHI 4,000 5,400 A 1,400
O2xX7 sHEdEEHeE 4,000
SHEMBESNL(ZERA)(EEAY) 4,286,000 2,150,000 2,136,000
< 3,000,000
e 1,286,000
401 Al HIZ 201 Y] 4,286,000 2,150,000 2,136,000
< 3,000,000
e 1,286,000
01 A& HI 4,283,000 2,142,260 2,140,740
OZEXF sHELEEFIHE 4,283,000
= 3,000,000
s 1,283,000
03 Al 2 0HHI 3,000 7,740 A4, 740
OZEXF SOHELUEEFIHE 3,000
QAT a2 HU ALY 8,232,000 8,527,000 A 295,000
= 4,939,000
=) 823,200
fia 2,469,800
403 X SHHSA=0l& 8,232,000 8,527,000 A 295,000
= 4,939,000
=) 823,200
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A1,314,000
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H3r
Wikd
RIS

8,527,000

600,000
600,000
600,000

1,000,000

1,000,000

1,000,000

2,379,000

2,379,000

2,379,000

0l &t o

[t

2,469,800
8,232,000
8,232,000
4,939,000

H

H

823,200
2,469,800

mH

200,000
200,000
200,000
200,000

1,600,000

1y

1,100,000
500,000

mH

1,600,000

1

1,100,000
500,000

H

1,599,000
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m
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